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➢ _ÞcïÒeþ ]ÞAdÐB\ÞaÐ @_ÊÒo] LÊ @_Ê^ÔÐ_ Leþ  ¼¼Ð 

ÒNÐVÞH _Þ̄ ÆcLÊ bÞþrÞþ LeÞþ _ÞwÙ½¤ Lõc Òeþ \ÞaÐ jÕMÔÐNÊXÞLÊ HL @_ÊLõc Lkþ«ÞÆ ¼¼Ð  

D]ÐkþeþZ - (i) 2,4,6,8,…   n    (ii) 1,3,5,7,….n  (iii) -2,-1,0,1,2,…. n  (iv) 1.5 , 2.5, 3.5, 4.5 ….n 

    @_ÊLõcÒeþ \ÞaÐ `õÒ[ÔL jÕMÔÐLÊ ÒNÐVÞH ÒNÐVÞH `] Lkþ«ÞÆ ¼¼Ð AÒc HWÐÒeþ ÒNÐVÞH aÞÒhi[é 

SÐZÞ`ÐeÊþ Òd, õ̀\c [ÞÒ_ÐVÞ LÞcèÐ QÐÒeþÐVÞ `]LÊ mþlÔ LeÞþ HkþÐeþ `eþaràþÑ `]NÊXÞL SÐZÞkÊþH ¼¼Ð  

jÐ^ÐeþZ bþÐÒa @_ÊLõcLÊ t1 , t2 , t3 , t4 ... tn eËþÒ` ÒmþMÐdÐH ¼¼Ð HWÐÒeþ t1 LÊ `õ\c `], t2 LÊ ]éÞ[Ñ¯Æ `] , 

t3 LÊ [ó[Ñ¯Æ `] J t4 LÊ Q[Ê\à `] Lkþ«ÞÆ ¼¼Ð ÒjkÞþ`eÞþ n [c `]LÊ  tn ]éÐeþÐ jËQÐdÐB\ÐH, n [c `]LÊ 

@_ÊLõceþ jÐ^ÐeþZ `] LÊkþÐdÐH ¼¼Ð HaÕ `õ\c `] LÊ jÕÒl`Òe þ’a’ Lkþ«ÞÆ ¼¼Ð  

     _ÞwÙ½ _Þ¯ÆcLÊ Ò_B LõcÒeþ \ÞaÐ @_ÊLõcLÊ ÒNÐVÞH `õN[Þ LÊkþÐdÐH ¼¼Ð `õN[Þ [Þ_Þ õ̀LÐeþeþ d\Ð - 

(L) jcÐ«Æeþ `õN[Þ  (M) NÊÒZÐrþeþ `õN[Þ  (N) kþeþÐ[ëL `õN[Þ 

jcÐ«Æeþ `õN[Þ -  

           jcÐ«Æeþ `õN[Þ LÊ jÕÒl`Òeþ (A.P)  ÒmþMÐdÐH ¼¼Ð d]Þ ÒL×ZjÞ @_ÊLõceþ `õÒ[ÔL `]eÊþ 

(`õ\c `]LÊ RÐXÞ ) `Ëaà̀ ]eþ aÞÒ¯ÆÐN$¼f jaà]Ð jcÐ_ kÊþH , Ò[Òa @_ÊLõcLÊ jcÐ«Æeþ `õN[Þ Lkþ«ÞÆ¼¼Ð 

HWÐÒeþ aÞÒ¯ÆÐN$¼fLÊ jÐ^ÐeþZ @«Æeþ Lkþ«ÞÆ ¼HaÕ HkþÐLÊ jÕÒl`Òeþ ‘d’  ]éÐeþÐ jËQÞ[ LeþÐdÐH ¼¼Ð @Ò[Ha 

jcÐ«Æeþ `õN[Þ `ÐBÜ , t2 – t1 = t3 - t2 = t4 – t3 = tn – tn-1 = d 
❖ @_ÊÒo] LÊ A^Ðeþ LeÞþ _ÞcïmÞþMÞ[ `õhïeþ Drþeþ ]Þ@ ¼¼Ð 

L) @_ÊLõceþ õ̀Ò[ÔL jÕMÔÐLÊ       Lkþ«ÞÆ ¼¼Ð 

M) `õ\c `]LÊ jÕÒl`Òeþ         Lkþ«ÞÆ ¼¼Ð   

N) jcÐ«Æeþ õ̀N[ÞLÊ jÕÒl`Òeþ         Lkþ«ÞÆ ¼¼Ð 

O) jÐ^ÐeþZ @«ÆeþLÊ jÕÒl`Òeþ        Lkþ«ÞÆ ¼¼Ð 

P¼) d]Þ `õ\c`]LÊ t1ÒmþMÐdÐH Ò[Òa, ]éÞ[Ñ¯Æ`]LÊ    ,[ó[Ñ¯Æ`]LÊ    J n [c`]LÊ    ÒmþMÐdÐH ¼¼Ð 

Q) @_ÊLõc LÐkþÐLÊ LÊkþÐdÐHÆ ? 

R) `õN[Þ LÐkþÐLÊ LÊkþ«ÞÆ HaÕ HkþÐ ÒLÒ[ õ̀LÐeþeþ ÒmþM ? 

S) jÐ^ÐeþZ @«Æeþ LÞ̀ eÞþ _ÞÀà¤¯Æ LeþÐdÐH ? 

 

 
 
 

                  jcÐ«Æeþ `õN[Þ 

                              - ckèþrþ`ËÀà¤ jË[ö -  

❖ jcÐ«Æeþ `õN[ÞÒeþ n [c `] _ÞÀà¤¯Æ `ÐBÜ jË[ö : tn = a + ( n – 1 ) d  

❖ n jÕMÔÐL `]eþ jc½Þ¤eþ jË[ö :  Sn = 
𝒏

𝟐
  { 2a+ ( n – 1 ) d }   LÞcèÐ  Sn = 

𝒏

𝟐
 ( a + 𝓵 )  
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❖ Aj NZÞ[ LeÞþaÐ  

`õhï : 6 + 9 + 12 ….Òe   S24  ÒLÒ[  ? 

jcÐ^Ð_:   6 + 9 + 12 ….   S24   

                          S = 6 + 9 + 12 … .. 24  VÞ `] ( HkÞþ jcÐ«Æeþ õ̀N[ÞÒeþ 24 `] `dàÔ«Æ @RÞ ) 

    (AÒc SÐZÊ jcÐ«Æeþ `õN[Þeþ `õ\c `]LÊ a , Òhi `]LÊ n HaÕ jÐ^ÐeþZ @«Æeþ LÊ d Lkþ«ÞÆ ¼¼Ð 

_ÞcïÒeþ ÒjkÞþ`eÞþ `õhïeÊþ a , d , n  e cËmþÔ aÐkþÐeþ LeþÐdÐBRÞ . ) 

HWÐÒeþ, a= 6    ,   d = 12- 9  aÐ  9 – 6 = 3 ,    n = 24   

        Sn = 
𝒏

𝟐
  { 2a+ ( n – 1 ) d }           (n jÕMÔÐL `]eþ jc½Þ¤eþ jË[ö )  

               = 
𝟐𝟒

𝟐
  { 2× 6 + ( 24 – 1 ) 3 }  (HWÐÒe jË[öÒe \ÞaÐþ a , d , n  yÐ_Òeþ [ÐkþÐeþ aÐkþÐeþ LeþÐdÐB\ÞaÐ 

cËmþÔ yÐ`_ LeþÐdÐBRÞ ¼¼Ð ) 

      = 12 { 12 + ( 23 ) 3 }    (cËmþÔ yÐ`_ `Òeþ 

𝟐𝟒

𝟐
 LÊ kþeþZ LeþÐNmþÐ HaÕ 2 LÊ 6 NÊZ_ LeþÐNmþÐ             

24 LÊ 1 Òeþ aÞÒ¯ÆÐN LeþÐNmþÐ ¼¼Ð 

               = 12  ( 12 + 69 )     (HWÐÒe AÒc SÐZÊ au_Ñ @\à NÊZ_ Ò[ZÊ 23 LÊ 3 NÊZ_ LeþÐNmþÐ ¼¼Ð  ) 

               =  12 × 81                (HWÐÒe 12 LÊ 81 NÊZ_ LÒmþ AÒc Drþeþ `ÐBaÐ ) 

               =  972 ( ans )  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


